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A0 Marks
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Note:

1. Do not open this Booklet untli you are told to dose.

2. Road carsfuily the instructions glven at the bagianing
of oach part of the Bookist,

3. Do not waste time. If a question is difftcult for you,
go on to the next one.

4. Check your answers thoroughly and make sure you
attompt svery question,

5. In this booklst, you should have the foliowing:
()} Pagei toPage &
(b} Queations 1 to 20




8ection A ; Mulliple-Choice Questions

Questions 1 to 20 carry 2 marks each, For each question, four options are
ghven. Omofumbﬂ»oommﬁakemdmn,z, 3 or 4).
Shade the correct oval {1, 2, 3 of 4) on the Optical Answor Sheet. {40 marks)

1 What is 100 more than 456867

(1) 4488
(2) 4588
(3) 4578
(4) 4868

2 Thedigh7in1735 stands for7__

3 Add 2078 to 350, Tha answer s

{1 1729
(2) 2044
(3) 2114
(4) 2429

4 5650 ~ 3480 =

)y 2181
(2) 2239
(3) 307
(4) 9130

5 S groupa of@ »

(1) 6+6+8+8
2) 5+6+6+8
{3) 6+6+6+6+8
4 5+5+5+5+5




2m98cm =, om

(1)
(2)
(3)
4

289
298
2098
2980

The clock shows

(1)
(2)
3)
)

10 minutes to 9

10 minutes to 10
45 minutes past 10
50 minutes past 10

$18.20 - $1240= §

(1) 580
(@) 620
(3) 30.20
(4) 30.60

Which of the following letters have perpendicular lines?

HAT

(1)
(2)
(3)
(4)

Hand Aonly
Hand T only
Aand T only
H,AandT




10

1

12

13

Which of the following fractions is the smallest?

0
@
&)
4)

QO AW Wler N

is 20 tons less than 2222.

The sum of the values of the digit 5 in 3568 and 7253 is

(1) 55
{2) 110
(3) 505
{4) 650

Lyni's mass is 24 kg. Her father is 3 fimes as heavy as her. How
much heavier is Lynn’s father than her?

(1) 96kg
@ T2kg
(3) 48kg
4 2Z7kg




14

15

16

17

The mass of a box of chocolates is 550 g. The mass of a jar of sweets

iz 780 g. How much lighter Is the box of chocolates than the jar of
sweels?

(1) 230¢g
(2) 230kg
(3) 1kg33g
(4) 1kg330g

2 18l 3

Amy used all the number cards {o make as many different 3-digit even
numbers as she can. How many even humbers can sha make?

(1) 6
(2 2
(3) 3
(4) 4

Thete are 8 rows of chairs in the hall. Each row has 8 chairs. How
many more chairs are heeded to sit 100 people in the hall?

(1y 17
(2) 28
@) 72
(4) 83

if / x QP x() =27, whatis the product of 798 and () 2

(1) 268
@ 77
(3) 2394
(4) 7182




18  Mr Les bought a wallet for $20.55 and a belt for $10.85. How much
change did he receive if he gave the cashier 3507

(1) $9.70 .
{2) 318.60
(3) $31.40
4) $81.40

19 The length of a reclangular carpet is twice its breadth.
The breadth is 5 m. What Is the perimeter of the carpet?

(1) 10m
2) 25m

3} 30m
4 40m

20  Which set of fractions gives the greatest value?

1, , 2
M 36+ 3
1 3
@ 1% * 3
1, 2
® 4+ 3
1 3
® 36+ 8
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Section B : Short-Answer Questions

Questions 21 to 40 canry 2 marks each. Show your working clearly in the
space below sach question and wirite your answers in the spaces provided.
For questions which require units, give your answars in the units stated.

(40 marks)

21 In 5642, the dight ts in the tens place:

Anst

22 Complete the following number pattem.
1826, 1725, 16825, , 1425

Ans:

23  There are 25 candles in a box. ‘How many:candies are there in 8 such
boxes?

Ans:

'24  How many sides and angles are there in the figure?

Ans: sides

angles




The bar graph shows the number of students who went {o the River

Satari from June to October. Study the graph and answer Questions 25
to 27.

Sep oa

28  Which month has the least number of students who went to the River
Safari?

Ans:

26 How many students went to the River Safarl in June and September?

Ans;

27 How many fewer students went to the River Safari in July then in
October?




28 What s the missing number in the box?
-+ 8 =26R7
Ans:
29  Tim ran 250 m in one day. What was the total distance he ran in &
days?
Ans: km,_- m
30  Siti filled a tank with a capagity of 40 £ with 8 bottles of water. Each

bottle contained 4 £ of water. How much more water did she need to
completely fill the tank?

Ans:




31 Sam tock 85 minutes to complete his homework. Ken took
1 hr 35 min o complete his homework. Who took a shorter
time to complets his homework?

Ans:.

32 Rina has-the amount of monegy shown below in her wallet. She wants to
buy a bag which costs $30. How much more money does she need?

s i‘:

R TEnAE

7o

g

Ans: 3

33  The figure below is made up of four identical squares. If the side of
each identical square is 5 cm, what is the area of the figure?

Ans: cm®




34  Wnich ons of the following letters has right angles?
N, E, W, Z

Ang:

35  Sally cut a cake inlo 10 equal pieces. She ate 5 plsces and her sister
ate anolher 2 pleces, What fraction of the cake-had she left?

Ans: _

36  Amange the fractions in order beginning with the smaliest.
WA
Lo, V2

e

Ans: , -
{smallest) {greatest)

37 Wilte any three equivalent fractions with denominators less than 50,

10




38

| 4834 (b)
@ | =8
2000

2358

478 2000

Ans: (a)
(b)

39

Thers were 5 teams at a soccer competition. They were Teams A, B,

C, D axd E. Each team played only a match against all other teams.
How many matches were thers in total?

Ans:

40

Anna bought 10 boxes of lollipops. Each box contained 8 loHipops.
She wanted to repack the lollipops into bags of 8 loflipops each to ssll
them. What is the most number of bags that she can repack to seli?

1"




Section C :Long-Answer / Strucured Questions
For questions 41 to 45 , show your working clearly in the space bslow each
question and wiite your answers in the spaces provided. (20 marks)

41 Muthu sold 3432 chairs n January. He sold 745 fewer chairs in
February than in January. How many chasirs did he sell in January and

February?

Ans: _14]

42  Roy had fever and had to take his medicine 3 imes a day. He took his
medicine once every 8 howrs. He took his first dose of medicine at
8.30 a.m. What time did Roy take his third dosa of medicine?

Ans: {4]

12




43  Lena had some stickers. Mike had 5263 stickers. Lena bought
snother 1340 stickers and she then had 1000 more stickers than
- Mike. How many stickers did Lena have at first?

Ans; 4 -

44  There are 5 boys standing between every 2 glils along the cormridor,
How many girls are there if there are 58 chikiren standing along the
corridor?

GBBBBEBGBBBBBGBB .. ..

Ans; i4]

13




45

The floor of Amy’s living room measures 15 m by 8 m. She placed a

carpet of 80 m?on the floor. What is the area of the floor not covered

by the carpet?

L 15m
90 m?
I9m
Ans: {4
End of Paper

Have you checked your paper? ©

14




EXAM PAPER 2017 (P3)
SCHOOL :RED SWASTIKA

SUBIECT : MATHEMATICS

TERM : SA2
Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10
4 3 4 1 3 2 2 1 ] 2 2
Q11 Q12 Q13 Q14 Q15 Q16 Q17 Q18 Q19 Q20
1 4 3 1 4 2 3 2 3 2
21)4 22)1525 23)200 24)5 sides, 5 angles 25)August
26)550  27)150 28)215 29)1 km 250 m 30)81L
31)Sam  32)$8 33)100 cm2 34)E 35)3/10
36)1/12,1/3,4/6 37)3/7=6/14 =9/21 = 12/28
38)a)2476  b)4716 39)10 40)13

41)3422 —745=2681
He sold 2681 chairs in February
2687 +3432=6119

He sold 6119 chairs altogether.



42)

l 4h 1 2h 6h

]
I ) .
8.30a.m. 12.30p.m. Z.E{Opm

1t dose 2" dose

He took his 3™ dose of medicine at 8.30 p.m.
43)5263 + 1000 = 6263
6263 -1340=4923
Lena has 4923 stickers.
44)There are 10 girls
45)15 x9 =135
135m2-90m2 =45 m2

45 m2 of the floor is not covered by the carpet.

8.30p.m.

3"%dose



